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QUESTION 1

Select the meaning of the underlined word in the sentence. 

The patient appeared flushed with fever, which had risen to 101.3 degrees. 

A. clouded 

B. reddened 

C. blackened 

D. annihilated 

Correct Answer: B 

 

QUESTION 2

Flaccid is best described as ______. 

A. toned 

B. limp 

C. rotted 

D. amused 

Correct Answer: B 

 

QUESTION 3

Subtract: 1001 - 99 = 

A. 900 

B. 902 

C. 999 

D. 1,000 

Correct Answer: B 

 

QUESTION 4

The neuron is composed of a/n ________, which transmits signals toward the cell body, and a/n _______, which
transmits signals away from the cell body. 
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A. dendrite, axon 

B. axon, dendrite 

C. filament, axon 

D. axon, filament 

Correct Answer: A 

 

QUESTION 5

Which of these sentences uses punctuation correctly? 

A. Honestly Michelle, what you are suggesting is never going to work. 

B. Honestly, Michelle, what you are suggesting is never going to work. 

C. Honestly; Michelle, what you are suggesting is never going to work. 

D. Honestly Michelle: what you are suggesting is never going to work. 

Correct Answer: B 

 

QUESTION 6

BF3 is also known as ____. 

A. boron trifluoride 

B. boron tetrafluoride 

C. tri-boron monofluoride 

D. boron monofluoride 

Correct Answer: A 

 

QUESTION 7

Select the correct word(s) for the blank in the following sentence. ___________ went to the movies last weekend. 

A. She and I 

B. She and me 

C. Her and I D. Her and me 

Correct Answer: A 
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QUESTION 8

Which of the following is an accurate paraphrasing of the underlined phrase? 

A. Many people are intrigued by the relationship between bacteria and plant life. 

B. Bacteria and alfalfa plants have a symbiotic relationship. 

C. Bacteria in alfalfa is worth studying. 

D. The gardening community is very invested in the bacteria found in alfalfa. 

Correct Answer: B 

 

QUESTION 9

In order for the actin filaments to bind to the myosin head, what must occur first? 

A. The sarcomere has to shorten. 

B. Calcium ions must bind to troponin molecules. 

C. Tropomyosin has to attach to the actin binding sites. 

D. Magnesium ions must be released by the sarcoplasmic reticulum. 

E. The Z line has to be lengthened to expose the actin binding site. 
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Correct Answer: B 

 

QUESTION 10

Dawn has a 20% off one shirt coupon at her favorite store. If she buys 3 shirts at $29.99 each and uses her coupon,
how much will her total bill be? Round to the nearest hundredth. 

A. $89.97 

B. $83.97 

C. $71.98 

D. $86.42 

Correct Answer: B 

 

QUESTION 11

5 is what percentage of 40? 

A. 12.5% 

B. 15% 

C. 10.5% 

D. 25% 

Correct Answer: A 

 

QUESTION 12

What is the charge on sodium in the compound NaCl? 

A. -1 

B. 0 

C. +1 

D. +2 

Correct Answer: C 

 

QUESTION 13

What is 80% of 500? 
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A. 380 

B. 412 

C. 400 

D. 392 

Correct Answer: C 

 

QUESTION 14

In a bird or a bee, the crop is responsible for ____. 

A. maintaining balance when perched 

B. helping to grind food 

C. storing food prior to digestion 

D. aiding in flying 

Correct Answer: C 

 

QUESTION 15

Which word means "to take in addition to or to complete"? 

A. Supplement 

B. Contraindication 

C. Potent 

D. Retain 

Correct Answer: A 
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